This is a list of the components i used and bought on
amazon for the MKO01 that | builded.

- 16€ One box for all M3 screw :
https://www.amazon.fr/dp/BOCJ28L JPW?ref=ppx_yo2ov_dt b _fed_asin_title&th=1

+ 100 5mm M3 screw https://a.co/d/eXNJFOd
- 4€ M3 nuts ( go to your local drug store)

- 8€ #6-32(UNC) Hex Nuts:
https://www.amazon.fr/dp/BOC2HTBRV8?ref=ppx yo2ov dt b fed asin title

- 11€ Arcade button, by 5 :
https://www.amazon.fr BO1N11BDX9?ref=ppx_vo2ov _dt b _fi in_titl

- 33€1€x3) magnets:
https://www.amazon.fr/dp/B06X977K8L ?ref=ppx_yo2ov_dt b_fed_asin_title

-Motherboard spacer: https://www.ldlc.com/fiche/PB00263118.html


https://www.amazon.fr/dp/B0CJ28LJPW?ref=ppx_yo2ov_dt_b_fed_asin_title&th=1
https://a.co/d/eXNJFOd
https://www.amazon.fr/dp/B0C2HTBRV8?ref=ppx_yo2ov_dt_b_fed_asin_title
https://www.amazon.fr/dp/B01N11BDX9?ref=ppx_yo2ov_dt_b_fed_asin_title
https://www.amazon.fr/dp/B06X977K8L?ref=ppx_yo2ov_dt_b_fed_asin_title
https://www.ldlc.com/fiche/PB00263118.html

